EARAROBEEIERT — 2 N— IBISH —F

20185 7A7H (+) 7H{AE3A

m C2—6# C2 ¥5%4mL B R
[AE£] 1% :220,000” ~ 23#%:66,000” ~ 337%&:22,000 ™  43%&:13,000 M 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
IRTIN =32 :31. 20— . — THERE (E8)
(12|75 7o%>a i 5 ne 1(3_1)7 2-2-2-2 | 39.8 3 (4:2) 5@#%& "
g/ vrTa BiH/ R Ta-) BHHS
N HZKFRA :31. —1-1- . - FIEE (£8)
olalo YALILX 4 5 e 1(13/12)8 1-1-1-1 | 39.9 2 (4_718) gﬁ;@ =1
L2740 —-IV K B:vFhRLHE AXETa—T7—A4A
N i 7 | AR 1:31.8 4-4-4-3 | 39.4| — 1 433 | BAREE (£8)
(1 3 KIRZAEZAV A 54.0 (7€) “7) (ﬁ)JPNﬁ;
Z:arFaa4y b BOXELCXFA B EviLy RT7—L4
. . N RHE#EC : —3-3- — hEFE (E5)
alzlg|x1vamyE 5 e 1.(322).2 3-3-3-4 | 40.3 4 (4+713; it
RF ALY E—y BTUEINY— 3 & HAEAKS
I RE— s 5 | AMAXZ 1:32.7 6-66-6 | 39.8| — 8 425 | BEEGE (1£E)
1 > DIt ra 54.0 2 1/2) © | (B JP N
vy )gdyR B3y R¥xvy T EX 2V K
S i :82. -7-7- 5| - WFEY (E8)
W #reve—n- 7| B s | BT [ms| | 7| e R e
R:Z27)—>k—A— B:JMLFaFa AIE R
5 oS 4t 4 | HPEA 32.8 7-8-8-8 [39.4| — 9 414 | FREEAE (1£%)
7 NN 6 2xT— |‘Z\:| 56.0 (NF) (-5) BEN
v TNVRry b BiIAY R)TA R RS S
= > PisUNESS : 55— — HHERE (EE)
gl1l1|#75>213 > 5| B3 1(73%:) 5-5-5-5 | 40.2 5 zzg? i
L:8=/FLLy b B:IR/K-T =E B
L O— K # 5 | BERE 1:33.2 9-9-9-9 [39.3| — 6 439 | =EEA (EE)
9/5|5|7>>A—F 56.0 @) (-6 | MEEX
R:T7H XTI B:¥vSbaYY BA KAl
4 4 REE_ = - = = = — | JEEeF (£8)
#| 810 YT 84.0 () o |TEEE
R:B—BNLVERII BT HT7E-—L E3ste ]
® 1—F—@EBIERL
1T=7r= 9,7,8,3,1,2,6,4,5
2a=5F= 9,7,8,3,1,2,4,6,5
Ja=5= 9,7,8,3,1,2,4,6,5
40—F— 9,7,3,8,1,2,4,6,5
[ /N
B 7 460M 714K 7-9 280M e E 7-8 630 JEE 3-7-9 580F
B B 7 1509 3-7 240M B = 7-9 920M JEE 7-9-3 3,270
9 120 3-9 260M B H 7-9 1,740M
8 110

ABICOVWTRDTEEERROODE. TR LIV,




